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'DISTRIBUTED OPERATING SYSTEM
Time Allotted : 3 Hours Full Marks : 70
The figures in the margin indicate full marks.
Candidates are required to gfve their answers in their own

. words as far as practicable.

- GROUP - A -
~ ( Multiple Choice Type Questions )

Choose the correct alternatives for any ten of the
following : i o 10 x 1 =10
ii In distributed system éaéh processor has its own

a) localmemory . b) clock

¢) both (a) and (b) d) none of these.
i) Processes on the remote systems are identified by

a) hostID
b) host name and identifier .

c) identifier
d) process ID.
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le system, a’ file is uniqucly

Iden[iﬁed b

a)  hogy nam ’
) loca name

c)

the coinbination of hos

t name and local name
d) none of these, ' |
If timestarnps of two events are same, then the
¢vents gre )
a) concurrent b) hon-concurrent
c) monotonjc d)

non-monotonic,

v) Communication is achieved in distributed system
by | |
a) disk sharing
b) shared rneniory location
cj file shéring
d) message passing.
vi) Which of the following is not the feature of
distributed system ?
a) Itis a collection of processors -
b) Processors communicate with one another
through high speed buses |
c) Processing must be  done .within defined
constraint Or the system will fail |
d) Each Processor has its own local memory,
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vi) Which of the following is not g distribyteq
computing model ? |
a) Minicomputer model
b) Workstation model
c)l 'Processor pool model
d) None of tl'lcsc. \
viii) Which deadlock model is| useq for resource
acquisition ? '
a) Single-Unit b) AND
¢ OR d) AND-OR.
i:;:] Different issues to be dealt with in case of
designing a distributed system are

a) Scalability
b) Compatibility
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c) Resource Management

d) All of these.

x)' Which technique 1s based on compile—ﬁme program
transformation for accessing remote data in a
distributed-memory parallel system ?

a) Cache coherence scheme
b) Computation migration
c¢) Remote procedure call

d) Message passing.

3 [ Turn over

* %-7606/7(0)
http://www.makaut.com

wodneyew mmm//:dyy



wodneyewr mmm//:dyy

http://www.makaut.com

CS/B.TF:CIi/rr(o,/()DD/SEM_”:T-?OM/2019-20

xi) Ch““dY-Mishm-nnss algorithm in  casc of
dislributcd system is for -
) distributeq deadlock detection
b)  distribyyeq mutual exclusion
<) distributeq file systcm.s
d) -

global state recording.
xil) Granularity refers i a distributed shared memory
a) page size
b) block size
c) virt.ua] address space
d) lbgiéal address space.
GROUP -B

({ Short Answer Type Questions )
Answer any three of the following. 3 x 5 = 15

-\2./With diagram describe loosely and 'tightly coupled

system. What are the limitations of distributed

operating system ?

e

What is the difference between Remote Procedure Call

and Remote Method Invocation ?
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C . D

. igration mechanism in distributed
4. Explain the pr
systicms.
Explain thc concept of communication in case of Slotted

Ring protocol.

6. Explain the replacement strategy uscd in distributed

shared memory.

GROUP -C
( Long Answer Type Questions )
Answer any three of the following. 3 x 15 =45

7. a) What is Lamport Logical clock ?
b) What are the limitations of Lamport Logical clock.

c) What are the necessary conditions satisfied by the
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'system of clocks ? Describe with example.
d) Briefly discuss “Chandy Lamport Global State

Recording Algorithm”. http://www.makaut.com -

\ﬁ./ a/ Describe different issues in deadlock detection and
resolution.
\QJ/ Describe a “Path-Pushing Algorithm” and mention
its limitation of this algorithm.
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m” for

’

: e maning Algoritl
l-’li( .']“.’ (l""{_.'_“", "I':ll”v — (,h‘-”“”,’, f

\ ’ Aintriny e dendloek detection:

3 x5

C y Ty
+ Write shopy note of the following -

8 on any three

Digitn] signature

D) Memory coherence

vfj/ Global State Detection Algorithm

‘{ Design issucs in Remote Procedure call (RPC)

¢) Inter Process Communication (IPC).

?{g/ Bricﬂy discuss Ricart-Agarwala Algorithm for
Mutual exclusion hand]ipg in distributed éystcms.
V@)/ What do you mean by Global State?
V/ Diffcrcntiatp bct.men.Tightly Couplcd and Loosclj
Coupled Systems.
.11, a) Name the main components of a distributed file
system. What might be the reasons for separating
the various functions of a distributed file system

into these components ?
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b) In the design of a distributed fjje System, high
availability and high scalability gre mutually
related properties. Discuss.
c) In the design of a distributed file system, high
perforrnance and hlgh reliabililty are mutually

related properties. Discuss.
d) What is an immutable ﬁlé ? Can a file system be
designed to function correctly by ﬁsing o-nly

immutable files ? Explaiﬁ.
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